DROCRAM 1	729-S TERM 08/01/2005 TO 07/31/2006						Т
							+
TITLE: REC	RUITER BUSINESS CARDS						_
ITEM NO.	DESCRIPTION	*	BASIS OF	*	ALL PRINTING		*
		*	AWARD	*	Houston, TX		*
		*		*	UNIT RATE	COST	*
I.	COMPLETE PRODUCT	*		*			*
(a)	Print face and back in two colorsper 1,000 cards	*	4875	*	\$11.20	\$54,600.00	*
(b)	System Timeworkper hour	*	7	*	\$60.00	\$420.00	*
II.	ADDITIONAL OPERATIONS	*		*		\$0.00	*
(a)	On-Line Ordering System Creation/Updatingper hour	*	40	*	\$65.00	\$2,600.00	*
(b)	Typesettingper line	*	3750	*	\$5.00	\$18,750.00	*
		*		*		\$0.00	*
		*		*		\$0.00	*
	CONTRACTOR TOTALS	*		*		\$76,370.00	*
	DISCOUNT	*		*	0.00%	\$0.00	*
	DISCOUNTED TOTALS	*		*		\$76,370.00	*
							T
							T
		1		1			- 1

						\top
						1
AMERICAN						
MINORITY BUSINESS	*	BUSINESS CARD, INC.	*	FJN WORLDNET, INC.		*
Glenwood, MN	*	Tullahoma, TN	*	Grafton, ND		*
UNIT RATE	COST *	UNIT RATE	COST *	UNIT RATE	COST	*
	\$0.00 *		\$0.00 *		\$0.00	*
\$27.29	\$133,038.75 *	\$22.50	\$109,687.50 *	\$170.00	\$828,750.00	*
\$0.00	\$0.00 *	\$40.00	\$280.00 *	\$50.00	\$350.00	*
	\$0.00 *		\$0.00 *		\$0.00	*
\$0.00	\$0.00 *	\$120.00	\$4,800.00 *	\$50.00	\$2,000.00	*
\$0.00	\$0.00 *	\$1.00	\$3,750.00 *	\$5.00	\$18,750.00	*
	\$0.00 *		\$0.00 *		\$0.00	*
	\$0.00 *		\$0.00 *		\$0.00	*
	\$133,038.75 *		\$118,517.50 *		\$849,850.00	*
2.00%	\$2,660.78 *	0.00%	\$0.00 *	0.00%	\$0.00	*
	\$130,377.97 *		\$118,517.50 *		\$849,850.00	*

								\top
								+
								+
HILDMG DDINMING		*	TO A NIC DRINE CHOR		*	MEW YORK DDEGG		*
HURTS PRINTING			JOAN'S PRINT SHOP			NEW YORK PRESS		
Indianapolis, IN		*	Wynona, OK		*	Fort Myers, FL		*
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$21.00	\$102,375.00	*	\$225.00	\$1,096,875.00	*	\$35.00	\$170,625.00	*
\$20.00	\$140.00	*	No Charge	\$0.00	*	\$60.00	\$420.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$20.00	\$800.00	*	\$20.00	\$800.00	*	\$60.00	\$2,400.00	*
\$0.10	\$375.00	*	No Charge	\$0.00	*	\$0.20	\$750.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
	\$103,690.00	*		\$1,097,675.00	*		\$174,195.00	*
4.00%	\$4,147.60	*	0.00%	\$0.00	*	0.00%	\$0.00	*
	\$99,542.40	*		\$1,097,675.00	*		\$174,195.00	*

			PRINTSOURCE		QUALITY PLUS	
ALPHAGRAPHICS #05296		*	OF INDIANA	*	PRINTING	*
Montclair, NJ		*	Indianapolis, IN	*	Wisconsin Rapids, WI	*
UNIT RATE	COST	*	UNIT RATE	COST *	UNIT RATE	COST *
		*		\$0.00 *		\$0.00 *
\$11.75	\$57,281.25	*	\$18.10	\$88,237.50 *	\$25.00	\$121,875.00 *
\$25.00	\$175.00		\$40.00	\$280.00 *	\$35.00	\$245.00 *
	\$0.00	*		\$0.00 *		\$0.00 *
\$25.00	\$1,000.00	*	\$40.00	\$1,600.00 *	\$75.00	\$3,000.00 *
\$1.00	\$3,750.00	*	\$0.50	\$1,875.00 *	No Charge	\$0.00 *
	\$0.00	*		\$0.00 *		\$0.00 *
	\$0.00	*		\$0.00 *		\$0.00 *
	\$62,206.25	*		\$91,992.50 *		\$125,120.00 *
2.00%	\$1,244.13	*	2.00%	\$1,839.85 *	0.00%	\$0.00 *
	\$60,962.12	*		\$90,152.65 *		\$125,120.00 *
	·					
	AWARDED					

								Т
								-
TRIPLE T								_
PRINTING		*	WICHITA PRESS		*			*
Moore, OK		*	Wichita, KS		*	GPO ESTIMATE		*
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$13.90	\$67,762.50	*	\$25.00	\$121,875.00	*	\$11.20	\$54,600.00	*
\$40.00	\$280.00	*	No Charge	\$0.00	*	\$85.00	\$595.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$40.00	\$1,600.00	*	No Charge	\$0.00	*	\$85.00	\$3,400.00	*
\$1.00	\$3,750.00	*	No Charge	\$0.00	*	\$1.220	\$4,575.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
	\$73,392.50	*		\$121,875.00	*		\$63,170.00	*
0.25%	\$183.48	*	0.00%	\$0.00	*	0.00%	\$0.00	*
	\$73,209.02	*		\$121,875.00	*		\$63,170.00	*